

Summary of Bids Received

Project: ADA Curb Ramps 2021 **Section:** 20-00999-76-SW

Description: Removing and replacing curb ramps, Performing traffic signal upgrades, and other related work.

Address	City, State, Zip	Bond	Bid Price	Eng. Estimate	Eng. Estimate
556 County Line Rd	Bensenville, IL 60106	Bid Bond	\$286,795.20	_	-\$141,439.80
75 Koppie Dr.	Gilberts, IL 60136	Bid Bond	\$325,502.00	-23.99%	-\$103,330.00
1166 Lake Avenue	Woodstock, IL 60098	Bid Bond	\$327,684.95	-23.48%	-\$100,550.05
P.O. Box 235	West Chicago, IL 60186-02	Bid Bond	\$338,568.25		-\$89,666.75
P.O. Box 1104	Huntley, IL 60142	Bid Bond	' '		-\$48,440.35
•	•		•		-\$47,420.95
12416 S. Harlem Avenue	Palos Heights, IL 60463	Bid Bond	\$444,029.50	3.69%	\$15,794.50
			\$428,235.00		
IDOT(2)	Contract Bidder	0	ounty Engineer		
Bid Tab File	Resident Eng.	N	lgr Capital Progra	mming	
Project File	Request By Mail				
	556 County Line Rd 75 Koppie Dr. 1166 Lake Avenue P.O. Box 235 P.O. Box 1104 1900 Wright Blvd 12416 S. Harlem Avenue	556 County Line Rd 75 Koppie Dr. 1166 Lake Avenue P.O. Box 235 P.O. Box 1104 1900 Wright Blvd 12416 S. Harlem Avenue IDOT(2) Bensenville, IL 60106 Gilberts, IL 60098 Woodstock, IL 60098 West Chicago, IL 60186-02 Huntley, IL 60142 Schaumburg, IL 60193 Palos Heights, IL 60463 Contract Bidder Resident Eng.	556 County Line Rd 75 Koppie Dr. Gilberts, IL 60136 Bid Bond 1166 Lake Avenue Woodstock, IL 60098 P.O. Box 235 West Chicago, IL 60186-02 Bid Bond P.O. Box 1104 Huntley, IL 60142 Bid Bond 1900 Wright Blvd Schaumburg, IL 60193 Bid Bond 12416 S. Harlem Avenue Palos Heights, IL 60463 Bid Bond Bid Bond Contract Bidder Bid Tab File Resident Eng.	556 County Line Rd Bensenville, IL 60106 Bid Bond \$286,795.20 75 Koppie Dr. Gilberts, IL 60136 Bid Bond \$325,502.00 1166 Lake Avenue Woodstock, IL 60098 Bid Bond \$327,684.95 P.O. Box 235 West Chicago, IL 60186-02 Bid Bond \$338,568.25 P.O. Box 1104 Huntley, IL 60142 Bid Bond \$379,794.65 1900 Wright Blvd Schaumburg, IL 60193 Bid Bond \$380,814.05 12416 S. Harlem Avenue Palos Heights, IL 60463 Bid Bond \$4444,029.50 IDOT(2) Contract Bidder County Engineer Bid Tab File Resident Eng. Mgr Capital Progra	S56 County Line Rd



Return Bid Tabulation

Project: ADA Curb Ramps 2021 Section: 20-00999-76-SW

Description: Removing and replacing curb ramps, Performing traffic signal upgrades, and other related work.

Item	Pay Code Description	Quantity	Unit	Eng Est	timate	Alliance Con	tractors, Inc.	Landmark Cor	ntractors, Inc.	Triggi Const	ruction, Inc.	Copenhaver (Construction		Concrete tors, Inc.	Acura	a Inc.	MYS, Inc	orporated
No.		-		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200100 EARTH EXCAVATION	55.00	CU YD	\$55.00	\$3,025.00	\$10.00	\$550.00	\$111.00	\$6,105.00	\$75.00	\$4,125.00	\$39.00	\$2,145.00	\$65.00	\$3,575.00	\$35.00	\$1,925.00	\$125.00	\$6,875.00
2	21301052 EXPLORATION TRENCH 52 INCH DEPTH	100.00	FOOT	\$50.00	\$5,000.00	\$10.00	\$1,000.00	\$29.55	\$2,955.00	\$10.00	\$1,000.00	\$15.00	\$1,500.00	\$1.00	\$100.00	\$25.00	\$2,500.00	\$10.00	\$1,000.00
3	35101400 AGGREGATE BASE COURSE, TYPE B	142.00	TON	\$65.00	\$9,230.00	\$20.00	\$2,840.00	\$74.00	\$10,508.00	\$35.00	\$4,970.00	\$33.00	\$4,686.00	\$5.00	\$710.00	\$18.00	\$2,556.00	\$35.00	\$4,970.00
4	42001300 PROTECTIVE COAT	900.00	SQ YD	\$2.00	\$1,800.00	\$0.01	\$9.00	\$2.00	\$1,800.00	\$0.10	\$90.00	\$2.00	\$1,800.00	\$0.01	\$9.00	\$1.00	\$900.00	\$5.00	\$4,500.00
5	42400200 PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	5,671.00	SQ FT	\$11.00	\$62,381.00	\$10.80	\$61,246.80	\$11.25	\$63,798.75	\$9.00	\$51,039.00	\$8.00	\$45,368.00	\$11.00	\$62,381.00	\$6.00	\$34,026.00	\$17.50	\$99,242.50
6	42400800 DETECTABLE WARNINGS		SQ FT	\$50.00	\$36,600.00	\$30.00	\$21,960.00	\$40.00	\$29,280.00	\$50.00	\$36,600.00	\$32.00	\$23,424.00	\$50.00		\$35.00	\$25,620.00	\$35.00	
7	44000100 PAVEMENT REMOVAL	58.00	SQ YD	\$30.00	\$1,740.00	\$30.00	\$1,740.00	\$30.00	\$1,740.00	\$25.00	\$1,450.00	\$19.00	\$1,102.00	\$20.00	\$1,160.00	\$25.00	\$1,450.00	\$45.00	\$2,610.00
8	44000500 COMBINATION CURB AND GUTTER REMOVAL	900.00	FOOT	\$20.00	\$18,000.00	\$12.00	\$10,800.00	\$17.10	\$15,390.00	\$15.00	\$13,500.00	\$8.00	\$7,200.00	\$10.00	\$9,000.00	\$7.00	\$6,300.00	\$15.00	\$13,500.00
9	44000600 SIDEWALK REMOVAL	5,343.00	SQ FT	\$5.00	\$26,715.00	\$3.00	\$16,029.00	\$2.90	\$15,494.70	\$3.50	\$18,700.50	\$2.00	\$10,686.00	\$2.00	\$10,686.00	\$2.00	\$10,686.00	\$5.00	\$26,715.00
10	60100905 PIPE DRAINS 4"	100.00	FOOT	\$50.00	\$5,000.00	\$1.00	\$100.00	\$115.00	\$11,500.00	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$5.00	\$500.00	\$25.00	\$2,500.00	\$25.00	\$2,500.00
11	60100915 PIPE DRAINS 6"	100.00	FOOT	\$50.00	\$5,000.00	\$1.00	\$100.00	\$116.30	\$11,630.00	\$25.00	\$2,500.00	\$18.00	\$1,800.00	\$5.00	\$500.00	\$35.00	\$3,500.00	\$25.00	\$2,500.00
12	60300105 FRAMES AND GRATES TO BE ADJUSTED	3.00	EACH	\$1,000.00	\$3,000.00	\$275.00	\$825.00	\$495.00	\$1,485.00	\$500.00	\$1,500.00	\$750.00	\$2,250.00	\$400.00	\$1,200.00	\$500.00	\$1,500.00	\$400.00	\$1,200.00
13	COMBINATION CONCRETE CURB AND 60603900 GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	364.00	FOOT	\$55.00	\$20,020.00	\$41.75	\$15,197.00	\$57.00	\$20,748.00	\$36.50	\$13,286.00	\$26.00	\$9,464.00	\$40.00	\$14,560.00	\$25.00	\$9,100.00	\$45.00	\$16,380.00
14	COMBINATION CONCRETE CURB AND 60605100 GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	560.00	FOOT	\$55.00	\$30,800.00	\$46.95	\$26,292.00	\$64.00	\$35,840.00	\$40.00	\$22,400.00	\$28.00	\$15,680.00	\$50.00	\$28,000.00	\$27.50	\$15,400.00	\$55.00	\$30,800.00
15	67100100 MOBILIZATION	1.00	L SUM	\$30,000.00	\$30,000.00	\$19,500.00	\$19,500.00	\$11,627.00	\$11,627.00	\$15,500.00	\$15,500.00	\$18,426.00	\$18,426.00	\$25,000.00	\$25,000.00	\$17,200.00	\$17,200.00	\$25,000.00	\$25,000.00
16	81028230 UNDERGROUND CONDUIT, GALVANIZED STEEL, 3 1/2" DIA.	37.00	FOOT	\$37.50	\$1,387.50	\$58.90	\$2,179.30	\$58.90	\$2,179.30	\$60.00	\$2,220.00	\$68.00	\$2,516.00	\$65.00	\$2,405.00	\$58.90	\$2,179.30	\$72.00	\$2,664.00
17	85000200 MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	2.00	EACH	\$750.00	\$1,500.00	\$880.00	\$1,760.00	\$880.00	\$1,760.00	\$1,000.00	\$2,000.00	\$1,012.00	\$2,024.00	\$968.00	\$1,936.00	\$880.00	\$1,760.00	\$1,200.00	\$2,400.00
18	87301215 ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	2,535.00	FOOT	\$1.25	\$3,168.75	\$1.20	\$3,042.00	\$1.20	\$3,042.00	\$1.25	\$3,168.75	\$1.50	\$3,802.50	\$1.35	\$3,422.25	\$1.20	\$3,042.00	\$1.50	\$3,802.50
19	87301225 ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	1,295.00	FOOT	\$1.50	\$1,942.50	\$1.50	\$1,942.50	\$1.50	\$1,942.50	\$1.50	\$1,942.50	\$2.00	\$2,590.00	\$1.65	\$2,136.75	\$1.50	\$1,942.50	\$1.80	\$2,331.00
20	87301255 ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 7C	574.00	FOOT	\$2.00	\$1,148.00	\$2.30	\$1,320.20	\$2.30	\$1,320.20	\$2.50	\$1,435.00	\$3.00	\$1,722.00	\$2.55	\$1,463.70	\$2.30	\$1,320.20	\$2.80	\$1,607.20
21	ELECTRIC CABLE IN CONDUIT, 87301900 EQUIPMENT GROUNDING CONDUCTOR, NO. 6 1C	586.00	FOOT	\$1.50	\$879.00	\$1.90	\$1,113.40	\$1.90	\$1,113.40	\$2.00	\$1,172.00	\$2.00	\$1,172.00	\$2.10	\$1,230.60	\$1.90	\$1,113.40	\$2.30	\$1,347.80
22	87501200 TRAFFIC SIGNAL POST, 16 FT.	4.00	EACH	\$1,000.00	\$4,000.00	\$1,145.00	\$4,580.00	\$1,145.00	\$4,580.00	\$1,150.00	\$4,600.00	\$1,317.00	\$5,268.00	\$1,260.00	\$5,040.00	\$1,145.00	\$4,580.00	\$1,400.00	\$5,600.00
23	87800100 CONCRETE FOUNDATION, TYPE A	16.00	FOOT	\$200.00	\$3,200.00	\$251.30	\$4,020.80	\$251.30	\$4,020.80	\$275.00	\$4,400.00	\$289.00	\$4,624.00	\$277.00	\$4,432.00	\$251.30	\$4,020.80	\$305.00	\$4,880.00
24	87900200 DRILL EXISTING HANDHOLE	4.00	EACH	\$300.00	\$1,200.00	\$281.00	\$1,124.00	\$281.00	\$1,124.00	\$285.00	\$1,140.00	\$324.00	\$1,296.00	\$310.00	\$1,240.00	\$281.00	\$1,124.00	\$340.00	\$1,360.00
25	88030100 SIGNAL HEAD, LED, 1-FACE, 5-SECTION, BRACKET MOUNTED	4.00	EACH	\$800.00	\$3,200.00	\$928.00	\$3,712.00	\$928.00	\$3,712.00	\$950.00	\$3,800.00	\$1,067.00	\$4,268.00	\$1,021.00	\$4,084.00	\$928.00	\$3,712.00	\$1,150.00	\$4,600.00
26	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, 88102717 BRACKET MOUNTED WITH COUNTDOWN TIMER	8.00	EACH	\$700.00	\$5,600.00	\$497.00	\$3,976.00	\$497.00	\$3,976.00	\$500.00	\$4,000.00	\$571.50	\$4,572.00	\$550.00	\$4,400.00	\$497.00	\$3,976.00	\$600.00	\$4,800.00
27	88800100 PEDESTRIAN PUSH-BUTTON	8.00	EACH	\$310.00	\$2,480.00	\$334.00	\$2,672.00	\$334.00	\$2,672.00	\$350.00	\$2,800.00	\$384.00	\$3,072.00	\$370.00	\$2,960.00	\$334.00	\$2,672.00	\$400.00	\$3,200.00
28	89502200 MODIFY EXISTING CONTROLLER	1.00	EACH	\$500.00	\$500.00	\$1,513.00	\$1,513.00	\$1,513.00	\$1,513.00	\$1,550.00	\$1,550.00	\$1,740.00	\$1,740.00	\$1,665.00	\$1,665.00	\$1,513.00	\$1,513.00	\$1,850.00	\$1,850.00
29	89502300 REMOVE ELECTRIC CABLE FROM CONDUIT	795.00	FOOT	\$0.75	\$596.25	\$0.40	\$318.00	\$0.40	\$318.00	\$0.50	\$397.50	\$0.50	\$397.50	\$0.45	\$357.75	\$0.40	\$318.00	\$0.50	\$397.50



Return Bid Tabulation

Project: ADA Curb Ramps 2021 Section: 20-00999-76-SW

Description: Removing and replacing curb ramps, Performing traffic signal upgrades, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Alliance Con	tractors, Inc.	Landmark Cor	ntractors, Inc.	Triggi Cons	truction, Inc.	Copenhaver	Construction	•	Concrete tors, Inc.	Acur	a Inc.	MYS, Inc	orporated
No.					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
30		MOVE EXISTING TRAFFIC SIGNAL UIPMENT	2.00	EACH	\$1,500.00	\$3,000.00	\$1,760.00	\$3,520.00	\$1,760.00	\$3,520.00	\$1,850.00	\$3,700.00	\$2,024.00	\$4,048.00	\$1,936.00	\$3,872.00	\$1,760.00	\$3,520.00	\$2,150.00	\$4,300.00
31	805077385	MOVE EXISTING CONCRETE UNDATION	1.00	EACH	\$1,000.00	\$1,000.00	\$880.00	\$880.00	\$880.00	\$880.00	\$900.00	\$900.00	\$1,012.00	\$1,012.00	\$968.00	\$968.00	\$880.00	\$880.00	\$1,150.00	\$1,150.00
32	LC200051 RE	JECTED LOAD TRANSPORTATION	3.00	LOAD	\$350.00	\$1,050.00	\$575.00	\$1,725.00	\$900.00	\$2,700.00	\$250.00	\$750.00	\$200.00	\$600.00	\$10.00	\$30.00	\$100.00	\$300.00	\$750.00	\$2,250.00
33	1 ("200501	NINTENANCE OF TEMPORARY COSION CONTROL SYSTEMS	752.00	UNIT	\$1.00	\$752.00	\$1.00	\$752.00	\$1.00	\$752.00	\$1.00	\$752.00	\$1.00	\$752.00	\$1.00	\$752.00	\$1.00	\$752.00	\$1.00	\$752.00
34	X0327698 NA	D INTERNALLY ILLUMINATED STREET ME SIGN	8.00	EACH	\$3,500.00	\$28,000.00	\$3,856.00	\$30,848.00	\$3,856.00	\$30,848.00	\$4,000.00	\$32,000.00	\$4,434.00	\$35,472.00	\$4,245.00	\$33,960.00	\$3,856.00	\$30,848.00	\$4,650.00	\$37,200.00
35		ACON ASSEMBLY (COMPLETE)□	2.00	EACH	\$15,000.00	\$30,000.00	\$8,166.00	\$16,332.00	\$8,166.00	\$16,332.00	\$8,250.00	\$16,500.00	\$9,391.00	\$18,782.00	\$8,985.00	\$17,970.00	\$8,166.00	\$16,332.00	\$10,000.00	\$20,000.00
36	X6060068 GU	OMBINATION CONCRETE CURB AND ITTER, TYPE B (SPECIAL) BUTTING EXISTING PAVEMENT)	13.00	FOOT	\$100.00	\$1,300.00	\$43.15	\$560.95	\$60.00	\$780.00	\$50.00	\$650.00	\$85.00	\$1,105.00	\$60.00	\$780.00	\$125.00	\$1,625.00	\$55.00	\$715.00
37		AFFIC CONTROL AND PROTECTION PECIAL)	1.00	L SUM	\$20,000.00	\$20,000.00	\$26,925.00	\$26,925.00	\$10,500.00	\$10,500.00	\$20,000.00	\$20,000.00	\$35,000.00	\$35,000.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00
38		IINTERRUPTABLE POWER SUPPLY, ECIAL	2.00	EACH	\$7,500.00	\$15,000.00	\$5,940.00	\$11,880.00	\$5,940.00	\$11,880.00	\$6,000.00	\$12,000.00	\$6,831.00	\$13,662.00	\$6,534.00	\$13,068.00	\$5,940.00	\$11,880.00	\$7,200.00	\$14,400.00
39		DEO DETECTION SYSTEM COMPLETE FERSECTION	1.00	EACH	\$35,000.00	\$35,000.00	\$22,398.00	\$22,398.00	\$22,398.00	\$22,398.00	\$22,500.00	\$22,500.00	\$25,758.00	\$25,758.00	\$24,640.00	\$24,640.00	\$22,398.00	\$22,398.00	\$27,000.00	\$27,000.00
40	XX006343 SE	EDING (COMPLETE)	402.00	SQ YD	\$10.00	\$4,020.00	\$1.00	\$402.00	\$15.00	\$6,030.00	\$15.00	\$6,030.00	\$8.00	\$3,216.00	\$10.00	\$4,020.00	\$12.00	\$4,824.00	\$5.00	\$2,010.00
		Bid Total				\$428,235.00		\$327,684.95		\$379,794.65		\$338,568.25		\$325,502.00		\$380,814.05		\$286,795.20		\$444,029.50



Project: ADA Curb Ramps 2021 **Section:** 20-00999-76-SW

Description: Removing and replacing curb ramps, Performing traffic signal upgrades, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Onit	Unit Price	Extnd. Price	Price	Price	Price
1	20200100	EARTH EXCAVATION	55.0	CU YD	\$55.00	\$3,025.00	\$10.00	\$125.00	\$65.71
2	21301052	EXPLORATION TRENCH 52 INCH DEPTH	100.0	FOOT	\$50.00	\$5,000.00	\$1.00	\$29.55	\$14.36
3	35101400	AGGREGATE BASE COURSE, TYPE B	142.0	TON	\$65.00	\$9,230.00	\$5.00	\$74.00	\$31.43
4	42001300	PROTECTIVE COAT	900.0	SQ YD	\$2.00	\$1,800.00	\$0.01	\$5.00	\$1.45
5	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	5,671.0	SQ FT	\$11.00	\$62,381.00	\$6.00	\$17.50	\$10.51
6	42400800	DETECTABLE WARNINGS	732.0	SQ FT	\$50.00	\$36,600.00	\$30.00	\$50.00	\$38.86
7	44000100	PAVEMENT REMOVAL	58.0	SQ YD	\$30.00	\$1,740.00	\$19.00	\$45.00	\$27.71
8	44000500	COMBINATION CURB AND GUTTER REMOVAL	900.0	FOOT	\$20.00	\$18,000.00	\$7.00	\$17.10	\$12.01
9	44000600	SIDEWALK REMOVAL	5,343.0	SQ FT	\$5.00	\$26,715.00	\$2.00	\$5.00	\$2.91
10	60100905	PIPE DRAINS 4"	100.0	FOOT	\$50.00	\$5,000.00	\$1.00	\$115.00	\$28.71
11	60100915	PIPE DRAINS 6"	100.0	FOOT	\$50.00	\$5,000.00	\$1.00	\$116.30	\$32.19
12	60300105	FRAMES AND GRATES TO BE ADJUSTED	3.0	EACH	\$1,000.00	\$3,000.00	\$275.00	\$750.00	\$474.29
13	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	364.0	FOOT	\$55.00	\$20,020.00	\$25.00	\$57.00	\$38.75



Project: ADA Curb Ramps 2021 **Section:** 20-00999-76-SW

Description: Removing and replacing curb ramps, Performing traffic signal upgrades, and other related work.

Item	Davido de	Description	0	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
14		COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	560.0	FOOT	\$55.00	\$30,800.00	\$27.50	\$64.00	\$44.49
15	67100100	MOBILIZATION	1.0	L SUM	\$30,000.00	\$30,000.00	\$11,627.00	\$25,000.00	\$18,893.29
16	81028230	UNDERGROUND CONDUIT, GALVANIZED STEEL, 3 1/2" DIA.	37.0	FOOT	\$37.50	\$1,387.50	\$58.90	\$72.00	\$63.10
17	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	2.0	EACH	\$750.00	\$1,500.00	\$880.00	\$1,200.00	\$974.29
18	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	2,535.0	FOOT	\$1.25	\$3,168.75	\$1.20	\$1.50	\$1.31
19	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	1,295.0	FOOT	\$1.50	\$1,942.50	\$1.50	\$2.00	\$1.64
20	87301255	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 7C	574.0	FOOT	\$2.00	\$1,148.00	\$2.30	\$3.00	\$2.54
21	87301900	ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING CONDUCTOR, NO. 6 1C	586.0	FOOT	\$1.50	\$879.00	\$1.90	\$2.30	\$2.01
22	87501200	TRAFFIC SIGNAL POST, 16 FT.	4.0	EACH	\$1,000.00	\$4,000.00	\$1,145.00	\$1,400.00	\$1,223.14
23	87800100	CONCRETE FOUNDATION, TYPE A	16.0	FOOT	\$200.00	\$3,200.00	\$251.30	\$305.00	\$271.41
24	87900200	DRILL EXISTING HANDHOLE	4.0	EACH	\$300.00	\$1,200.00	\$281.00	\$340.00	\$300.29



Project: ADA Curb Ramps 2021 **Section:** 20-00999-76-SW

Description: Removing and replacing curb ramps, Performing traffic signal upgrades, and other related work.

	Lot Bato.	0/11/2021							
Item	Pay Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Qualitity	Oilit	Unit Price	Extnd. Price	Price	Price	Price
25	88030100	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, BRACKET MOUNTED	4.0	EACH	\$800.00	\$3,200.00	\$928.00	\$1,150.00	\$996.00
26	88102717	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	8.0	EACH	\$700.00	\$5,600.00	\$497.00	\$600.00	\$530.36
27	88800100	PEDESTRIAN PUSH-BUTTON	8.0	EACH	\$310.00	\$2,480.00	\$334.00	\$400.00	\$358.00
28	89502200	MODIFY EXISTING CONTROLLER	1.0	EACH	\$500.00	\$500.00	\$1,513.00	\$1,850.00	\$1,620.57
29	89502300	REMOVE ELECTRIC CABLE FROM CONDUIT	795.0	FOOT	\$0.75	\$596.25	\$0.40	\$0.50	\$0.45
30	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	2.0	EACH	\$1,500.00	\$3,000.00	\$1,760.00	\$2,150.00	\$1,891.43
31	89502385	REMOVE EXISTING CONCRETE FOUNDATION	1.0	EACH	\$1,000.00	\$1,000.00	\$880.00	\$1,150.00	\$952.86
32	LC200051	REJECTED LOAD TRANSPORTATION	3.0	LOAD	\$350.00	\$1,050.00	\$1.00	\$900.00	\$397.86
33	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	752.0	UNIT	\$1.00	\$752.00	\$1.00	\$1.00	\$1.00
34	X0327698	LED INTERNALLY ILLUMINATED STREET NAME SIGN	8.0	EACH	\$3,500.00	\$28,000.00	\$3,856.00	\$4,650.00	\$4,128.14
35	X1400326	RECTANGULAR RAPID FLASHING BEACON ASSEMBLY (COMPLETE)	2.0	EACH	\$15,000.00	\$30,000.00	\$8,166.00	\$10,000.00	\$8,732.00



Project: ADA Curb Ramps 2021 **Section:** 20-00999-76-SW

Description: Removing and replacing curb ramps, Performing traffic signal upgrades, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code				Unit Price	Extnd. Price	Price	Price	Price
36	X6060068	COMBINATION CONCRETE CURB AND GUTTER, TYPE B (SPECIAL) (ABUTTING EXISTING PAVEMENT)	13.0	FOOT	\$100.00	\$1,300.00	\$43.15	\$125.00	\$68.31
37	X /010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$20,000.00	\$20,000.00	\$10,500.00	\$50,000.00	\$28,203.57
38	XX670700	UNINTERRUPTABLE POWER SUPPLY, SPECIAL	2.0	EACH	\$7,500.00	\$15,000.00	\$5,940.00	\$7,200.00	\$6,340.71
39	XX005723	VIDEO DETECTION SYSTEM COMPLETE INTERSECTION	1.0	EACH	\$35,000.00	\$35,000.00	\$22,398.00	\$27,000.00	\$23,870.29
40	XX006343	SEEDING (COMPLETE)	402.0	SQ YD	\$10.00	\$4,020.00	\$1.00	\$15.00	\$9.43
		Bid Total				\$428,235.00			